M & O & A& 8 Al A
2018 = =20l & 2 EHS A
3 JHAZY AR
£ M MHHSH
& MHETHoH ol (cteldd)
RS - A - FH - BR(SH) - MRAY - BES 0l & o S RS2
M eHOH S ot 265,910 203,315 62,595
= 90,450
Al 175,460
XH &+ RH oH Ol 2 10,600 7,000 3,600
M AlE S 22 10,600 7,000 3,600
FHaAANLES otdze| 23E 10,600 7,000 3,600
201 Er2dl 4,000 4,000 0
01 At 2t2ld| 4,000 4,000 0
Oerdze| X2 29 S 4,000,000& 4,000
202 0481 3,000 2,000 1,000
01 =LHAHI 3,000 2,000 1,000
OMFAANLE AHEFE S 3,000,000 3,000
203 R =&H| 3,600 1,000 2,600
03 AlEF=AHL=ZHI 3,600 1,000 2,600
OM=IEAId 33, 28 28 S g2FA
3,600,000 3,600
et O g S22 88,600 24,000 64,600
= 15,000
Al 73,600
ot e SEEHMFX 88,600 24,000 64,600
= 15,000
Al 73,600
S| AIDUES SgsEd 24,000 24,000 0
= 15,000
Al 9,000
308 AHXIEHHISOIA 24,000 24,000 0
= 15,000
Al 9,000
01 AXEHBLAEES 24,000 24,000 0
Ol MDUsS &s8d 24,000,000& 24,000
= 15,000
Al 9,000
ogs2XH 24,600 0 24,600
201 24| 14,600 0 14,600
01 At 22l 14,600 0 14,600
OAtSI MM =R 28 =&4dl 3,000,0008 3,000
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SEEE

o

=
.

P
=

ZH -
= &

US| - 2A - ZH - GA(SAN) - MR - BES 01l &k o8 Sise HlRE2
OMETHHEES AEARS 29 +¢4 S
6,600,0002 6,600
OQtEAISD B85 ELH S 4,000,0002! 4,000
OSHMAID AN 29+g S 1,000,0002! 1,000
301 YprE A 10,000 0 10,000
1 JIEE A3 10,000 0 10,000
OOt AID ZAH 29 10,000,0002 10,000
ABIEOl AFBITHE CHH =& 40,000 0 40,000
201 LEr2 Y| 40,000 0 40,000
03 A2 ZHI 40,000 0 40,000
OAIBIEO! AFBITHLE CHHI =& 40,000,0002 40,000
o™ ™A 2= 108,425 102,425 6,000
=2 61,450
Al 46,975
MAHsS g st 108,425 102,425 6,000
2 61,450
Al 46,975
IS SEEA(NY) 65,000 59,000 6,000
= 32,500
Al 32,500
201 LEr2 Y| 62,000 56,000 6,000
= 31,000
Al 31,000
03 iAt2I I 62,000 56,000 6,000
OMHHE Hdst=Ea 62,000,000 62,000
2 31,000
Al 31,000
202 04 Hl 3,000 3,000 0
2 1,500
Al 1,500
01 2L b 3,000 3,000 0
OEYZHIE Q8 25 YLEY S 3,000,0008 3,000 |
2 1,500
Al 1,500
IS ESER (L) 43,425 43,425 0
= 28,950
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5 B YOOE M P (=ER-E)
ARE| - A - B - B(B) - NIRAE - B of &t e DS
SIS SEEH(XNY) Al 14,475
308 XXM SO0IH 43,425 43,425 0
= 28,950
Al 14,475
01 IXSHMBAEES 43,425 43,425 0
O=IHNHHSsE=d 43,425,000 43,425
= 28,950
Al 14,475
Mzl A 2= 28,000 39,004 211,004
= 14,000
Al 14,000
SSEFHA 2= 28,000 39,004 211,004
= 14,000
Al 14,000
THE TG A ael2el XA ALY 28,000 16,000 12,000
= 14,000
Al 14,000
202 014l 1,000 2,000 21,000
= 500
Al 500
01 ZLHoiHI 1,000 2,000 21,000
OMH I alelatel HRF=E 1,000,000& 1,000
= 500
Al 500
308 HXISHMSO0IA 27,000 0 27,000
= 13,500
Al 13,500
10 SISO HE B4 H S AL 27,000 0 27,000
OMa el N HE 2SI 27,000,000 27,000
= 13,500
Al 13,500
M2 AH 30,285 30,886 A601
=23 (HEUED) 30,285 30,886 AB01
FA2E 30,285 30,886 2601
201 et2 | 18,900 18,901 At
01 At 2t2lbl 11,900 11,901 A
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S EERSIEETEE T
£ M HHUHS D
=R TE R (25 ®R)
ARB - LA - HE - B (SH) - HTAY - BES of &t o e HIDS2
ORNK2E+EHl 5,400,000 5,400
OJ2ge+d St 6,500,000 6,500
02 S&2gYl 7,000 7,000 0
O832= € HAl 1,000,000& 1,000
OXt& o 8t 6,000,000& 6,000
202 (4 8 7,785 7,785 0
01 ZLHOIHI 7,785 7,785 0
OJlzg e+ ol 7,785,000 7,785 '
203 & R =] 3,600 4,200 2600
04 FA2ZLRFAH 3,600 4,200 2600
OR M= 300,000 «12& 3,600
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